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Section - A

(This section contains 30 multiple choice questions. Each question has four
choices (A), (B), (C) and (D), out of which only ONE is correct.)

1. Fillin the blank with the correct preposition.

Diksha went to Paris 30th May, 2012.
(A) on (B) in
(C) at (D) for

2. Choose the opposite gender of the word in bold.
The doe ran away when nobody was present.
(A) Horse (B) Buck
(C©) Kid (D) Mare
3. Choose the correct active form.
A letter is written by Amit.
(A) Amit wrote a letter. (B)  Amit writes a letter.
(C) Amitis writing a letter. (D)  Amit has written a letter.
4. Say whether the word in bold is a finite or non-finite verb.
Jeff was happy to bring bread to the table.
(A) Non-finite verb (B)  Finite verb
(C) Both (D)  Neither of the two

5. Match the pronouns with the correct types.

Pronouns Type

(p) Take care of yourself. (i) Relative Pronoun

(q) | know the boy who did it. | (i) Demonstrative Pronoun

(r) Casey herself did the job. (iii)  Emphatic Pronoun

(s) This is her book. (iv)  Reflexive Pronoun

(A)  (p)-(iii), (a)-(1), (r)-(iv), (s)-(ii) (B)  (p)-(iv), (a)-(i), (n)-(iii), (s)-(ii)
(C)  (p)-(), (@)-(iii), (r)-(ii), (s)-(iv) (D) (P)-(iv), (a)-(iii), (r)-(ii), (s)-(0)
6. Identify the type of the adjective used in the given sentence.

There is some soup in the bowl.



10.

11.

12.

13.

(A) Adjective of quantity (B)  Adjective of quality

(C) Adjective of number (D)  Adjective of possession
Choose the correct adverb.

Teena plays badminton

(A)  well (B)  hardly

(C) good (D)  fluently

Write the correct profession for the description.

A person whose area of scientific research is Astrophysics, the stars and the
physical universe.

(A) Astrologer (B)  Astronomer
(C) Physicist (D) Cosmetologist
Choose the correct preposition to fill in the blank.

Naman chose to stay at home going to the club.
(A) for (B) because of
(C) instead of (D) in case of

Fill in the blank with the correct form of collective noun.

| love to watch a of ships.
(A) flock (B)  shoal
(C) fleet (D) pack

Which of these is the correct word for an account of a person’s life written by
himself?

(A) Biography (B)  Autobiography
(C) |List (D)  Bulletin
Identify the type of the sentence.

Come to my office tomorrow at 10 am.

(A) Imperative (B) Exclamatory
(C) Assertive (D) Interrogative
Fill in the blank with the correct form of adjective.

Tomorrow is her birthday.

(A) thirteen (B) thirteens

(C) thirteenth (D) thirteen’s
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20.

Which of the given words is NOT an interjection?

(A) Over (B) Hush

(C) Eww (D) Oops
Choose the correct transformation of the given sentence to indirect speech.
“I always drink milk,” she said.

(A) She said that she always drinks milk.

(B) She says that she always drinks milk.

(C) She is saying that she always drinks milk.

(D) She was saying that she always drinks milk.
Choose the correct abstract noun.

Kaustabh was known for his

(A) poverty (B) generosity
(C) happiness (D) girlhood
Choose the correct adverb.

He is reading

(A) fastly (B) loudly

(C) generally (D) extremely
Transform the following sentence to passive voice.

Who taught her Sanskrit?

(A) By whom was she taught Sanskrit?

(B) Who is that who teach her Sanskrit?

(C) Who has taught her Sanskrit?

(D) None of these

Identify the sentence that has a coordinating conjunction.
(A) He failed because he did not study hard.

(B) She is intelligent but lazy.

(C) John woke up so late that he missed the train.

(D) I'will go if he doesn’'t come.

Choose which of the following is the correct way of giving negative answer for the
given sentence in the past tense.

Who was convicted for the murder?
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23.

24,

25.

26.

27.

(A) No one was convicted for the murder.

(B) Not anyone been convicted for the murder.

(C) No one being convicted for the murder.

(D) None was been convicted for the murder.

Identify the type of the sentence.

Would you please wait for a moment?

(A) Assertive (B) Interrogative
(C) Imperative (D) Exclamatory
Choose the correct option for the given description.

studies hearing disorders, balance and other related disorders.

(A) Psychiatrist (B)  Chiropractor

(C) Audiologist (D)  Optometrist

Find the sentence which has NO error.

(A) Kkirti bought a new house. (B)  She loves to play with dogs
(C) He has been to Dubai. (D) Its a great place to visit.

Replace the word given in bold with an appropriate phrasal verb.

The thief escaped the prison at night.

(A) Randown (B) Raninto

(C) Ran away (D) Ranover

Fill in the blank with the correct tense.

The students the examination for last 1 hour.

(A) hastaken (B) istaking

(C) have been taking (D) had been taking
Find the odd one out.

(A) Nurse (B) Attendant

(C) Journalist (D)  Anaesthetist
Choose the synonym of Passionate.

(A) Ardent (B)  Unimpassioned
(C) Apathetic (D) Indifferent

Read the passage carefully and answer the questions 28 to 30.



When Charles Darwin was a boy, he showed no promise to be a good student. He had
greater interest in flowers, birds and stories about them in his book. He was, therefore,
a trouble and worry for his parents. At school, he was not a meritorious student.

The narrow old fashioned course of his school looked extremely dull to him. He was
bored by Latin and Greek. But he was attracted by things outside the course. His spare
time was spent in the study of Chemistry which was not taught in English Schools in
those days. Darwin was punished by his master for wasting his time in such a useless
way. He was fond of poetry, but above all, he liked living things, animals, plants and
also rocks.

The boy Darwin was very keen on outdoor sports on horses, dogs and he loved to ride
and to shoot.

28. Why did Darwin show no interest in school?
(A) He was a dull student.
(B) He liked to trouble his parents.
(C) He liked English Schools.
(D) The syllabus in school was old fashioned and dry for him.

29. Darwin disliked

(A) Living things (B)  His master
(C) Latin and Greek (D) Wasting time
30. Darwin spent his spare time in
(A) Reading poetry (B) Doing homework
(C) Studying Chemistry (D)  Painting rocks
Section - B

(This section contains 10 multiple choice questions. Each question has four
choices (A), (B), (C) and (D), out of which TWO are correct.)
31. Choose the sentences that have errors.
(A) | prefer tea than coffee. (B)  Hari put on silk trousers.
(C) Itis a beautiful poem. (D) I wish to buy some furniture
32.  Which of the following are NOT antonyms of ‘Impulsive’?
(A) Impetuous (B)  Freakish
(C) Reasonable (D) Steady

33.  Which prepositions make phrasal verbs with ‘blow’?



34.

35.

36.

37.

38.

39.

40.

(A) up (B)  through

(C) of (D) out

Choose the sentences that have NO errors.

(A) Who's the brightest child in this class?

(B) Whos the brightest child in this class

(C) The boys school are near the railway station in Delhi.

(D) The boys’ school is near the railway station in Delhi.
Which of the following are reflexive pronouns?

(A) My (B)  Yourself

(C) Anything (D) Themselves
Which of these sentences are in past perfect continuous tense?
(A) His mother had been residing at this house before she died.
(B) It has been raining since yesterday.

(C) My sister had been studying before | came.

(D) He has been writing the book since 2000.

Which of the following are subordinating conjunctions?

(A) so (B) or

(C) as (D) et

Which of the following are in future perfect tense?

(A) The sum will have been done by Raghu by then.

(B) The wallet of Neeta had been stolen before she realised it.
(C) The novel will have been read by me by this weekend.

(D) Aparna shall be presented with the award.

Which of these have intransitive verbs?

(A) The boy cut the vegetables. (B) He slept all day.
(C) John felt happy. (D) Irang the bell.
Select the sentences with clause.

(A) Weread to learn things.

(B) Ashok gave me a chain that is made of gold.

(C) What he said was true.

(D) The referee whistled and the game started.
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